Addal247

QUESTION PAPER
Madhyamic MATHS [SHIFT - 2]

Exam Date : 04/09/2023
Subject Name : MATHS

Time : 03:00 PM - 05:30 PM
Subject Code : 110

Subject Question

Question 1 Question Id : 1

oY BICT 3HSY T 3R Ja Bt AIfTes T BT HOWO B |

Answer : Option Id
(A) 4 1001
(B)3 1002
Q2 1003
(D)5 1004
Right Answer : Right Option Id : 1003
2

Question 2 Question Id : 55
fefafaa & fege THwa te uRig T 82

Answer : Option Id
(A) V2 X V3 55001
(B) V9 X V5 55002
(C) V27 X V3 55003
(D) S8 HIS 8T 55004
Right Answer : Right Option Id : 55003
V27 X V3

Question 3 Question Id : 54

a1 uRE Temait T Ho"o 3R A0HO0 SRS &, o TR 3wy g1 gift

Answer : Option Id
(A) STHISY 54001
(B) Tg-3THIST 54002
(C) b 54003
(D) ¥HH 54004
Right Answer : Right Option Id : 54004
RSIGE

Question 4 Question Id : 53

° P TRHAd YR HIl 52

15

Answer : Option Id
(A) i 53001
(B) 3T 3t 53002
CELGEREH 53003
(D) 378 ®Is g1 53004
Right Answer : Right Option Id : 53001
Tid
Question 5 Question Id : 52

R L]

= Al HEIAT §7
Answer : Option Id


dell
Stamp


(A) IR

(B) 3URTY

(C) ardfde et
OESEEIEEG

Right Answer :

3OfRAg

Question 6

0.12112111211112------

Answer :

() TRe

(B) 3R

(C) 3farkifde
(D) $TH DI 81

Right Answer :

3OREY

Question 7

fFifrd & P ey 82

Answer :

A 3

(B)
6

©

(D)

(¥
o |w aly Tr

Right Answer :

V2

5

Question 8

x 7Y USHR &1 T 5

Answer :
(A) SURET
(B) uRHT
(C) fawm
(D) §HI

Right Answer :

3ORAg

Question 9

Tl HIHD TH TS BT HCF HAT T2

Answer :
(A1
(B)2
Q3

52001
52002
52003
52004

Right Option Id : 52002

Question Id : 51

Option Id
51001
51002
51003
51004

Right Option Id : 51002

Question Id : 50

Option Id
50001

50002

50003

50004

Right Option Id : 50003

Question Id : 49

Option Id
49001
49002
49003
49004

Right Option Id : 49001

Question Id : 48

Option Id
48001
48002
48003



(D) 5

Right Answer :
2

Question 10

T BT HUTST 3R Yo BT HIoT AT HT OHHT g |

Answer :
(A) 10

(B) 6

(C) 8

(D) 4

Right Answer :
8

Question 11

TS a 3R HISIH b & AT a= bg+r H AVHT r & T S A1 a9 T8t 3

Answer :
A a=cC=bh
®0<x=<b
© 0=« <b
(D) r>b

Right Answer :
0=« <b

Question 12

23

—~ _ T EAHT JAR Hid &7

23 x 52
Answer :

(A) 0.004

(B) 0.04

(C) 0.0004
(D) 0.4

Right Answer :
0.04

Question 13
5.2333------- s

Right Answer :
aReg Fear

Question 14

Iie o 3R B ague flx) = x*+x+1
$aaeﬁa?i+-é & AT 9T

Answer :

48004

Right Option Id : 48002

Question Id : 47

Option Id
47001
47002
47003
47004

Right Option Id : 47003

Question Id : 46

Option Id
46001
46002

46003
46004

Right Option Id : 46003

Question Id : 45

Option Id
45001
45002
45003
45004

Right Option Id : 45002

Question Id : 44

Option Id
44001
44002
44003
44004

Right Option Id : 44003

Question Id : 43

Option Id



(A)O

B)1

Q-1

(D) $TH B a1

Right Answer :
-1

Question 15

TEUT 9x2-4 F LI FEfiad A P & :
Answer :
A 2 -2

3’ 3
(B)

4,-4
@9,-9
™3 3
R

Right Answer :
2 —2

.

3° 3

Question 16
FEUT 3x2-5x-2 &b AD! BT ATHA @ :

Answer :
(A)

5
(B)

| W

©

(D) 5

Right Answer :
5

3

Question 17

TR x2=4 F1 50 Y FafaRad & § S 91 g

Answer :
(A) {3, -3}
(B) {4, -4}
Q{2 -2}
(D) 5T TS &l

Right Answer :
{21 -2}

Question 18
fgifed & @19 9guc T8l | :

43001
43002
43003
43004

Right Option Id : 43003

Question Id : 42

Option Id
42001

42002

42003
42004

Right Option Id : 42001

Question Id : 41

Option Id
41001

41002

41003

41004

Right Option Id : 41003

Question Id : 56

Option Id
56001
56002
56003
56004

Right Option Id : 56003

Question Id : 57



Answer :

(A) 2x%-3x+V5

(B) V3x2-2v3x-5

© 1
s

X
(D) 375 B1E &Y
Right Answer :

1
L
X

Question 19

Ife TgUG x3+x2-7x-7 & &l AP V7 T -V7 81 Al ARl LD 81T -
Answer :

(A1

(B) -3

3

(D) -1

Right Answer :
-1

Question 20

i IgUG f(x)= (k2 +4)x2+13x+4k BT A GAR BT Feh AU 81 al k BT TTH GRT :

Answer :
(A) -2

(B) -1
€2
D)1

Right Answer :
2

Question 21

gUG x2-5x+4 T F1 SIS S difcs URUTHT SgUE &1 U IS 3 BT :
Answer ;

(A) 4

(B)5

Q2

(D)1

Right Answer :
2

Question 22

I & =R I YRGS THHROT I T g1 dl a1 TRl gIRT URdd XaTg g
Answer :

(A) U=l Y@

(B) THTGR @1

(C) THT HuTdl

(D) Ufcrwst a1 gurdt

Right Answer :
iy et o Furdl

Question 23
Jf¢ TgUG x2+ax-b & YD TH-gUR & b H 81 dl b BT M I :

Option Id
57001
57002
57003

57004

Right Option Id : 57003

Question Id : 58

Option Id
58001
58002
58003
58004

Right Option Id : 58004

Question Id : 67

Option Id
67001
67002
67003
67004

Right Option Id : 67003

Question Id : 73

Option Id
73001
73002
73003
73004

Right Option Id : 73003

Question Id : 72

Option Id
72001
72002
72003
72004

Right Option Id : 72004

Question Id : 71



Answer :

(A) -1

B)1

Qa

(D) 5T TS &l

Right Answer :
-1

Question 24

HHDOT JaA a,x + byy+c; = 0 T a,x + byy+c,

T BT AT @O, AR L A .

a, b,
Answer :
(A) DTS B TEI
(B) 3ifediig gt
(C) 3FRHd g9
(D) $7H DI 81

Right Answer :
Sifgdia gt

Question 25

THIHRT 4x + 3y = a%ﬁ‘l’ﬁﬂﬁx=1ﬁmy= 2 gl dll a &1 T BRI :
Answer :

(A) 7

(B) 10

(€ 4

(D)3

Right Answer :
10

Question 26

Tl g YT HEardT 8, afe IqH SR
Answer :

(A) 3FRFT

(B) U 3R Hadl Ub

(C) s g Tel

(OESEEIERG

Right Answer :
SEINER]

Question 27
AR BT ax + byy + €1 = 0 dUT apx + boy + ¢, = 0 BT AR 8@ g A

Answer :

Vay _ by
a; b,

(B)
a; by

) b,

Option Id
71001
71002
71003
71004

Right Option Id : 71001

Question Id : 70

Option Id
70001
70002
70003
70004

Right Option Id : 70002

Question Id : 69

Option Id
69001
69002
69003
69004

Right Option Id : 69002

Question Id : 68

Option Id
68001
68002
68003
68004

Right Option Id : 68001

Question Id : 66

Option Id
66001

66002



Right Answer :
ai by
a, b, Co

_ . Iy

Question 28

TR ¥GT 2x+3y-6=0 BT AR y-3f&f & G g Rprea g, s g g

Answer :
(A) (0, 2)
(B) (2, 0)
Q) (0, 3)
(D) 3.0)

Right Answer :
(0, 2)

Question 29

THHROT 2x-3y=6 BT TG x-34&f I o fag W premag fog 8 :

Answer :
(A) (0, 2)
(B) (2,0
(© (0, 3)
(D) 3.0

Right Answer :
(3.0)

Question 30
FEUT x2-2x+1 F YT G TR ATHA G :

Answer :

(A)1

(B) 2

(ORY

(D) TTH A PIS 75!

Right Answer :
0

Question 31

n T&UT ST ATET 12 TYT 39 U&IUN &1 TN 132 BT dl n &1 HHF 1d B

Answer :
(A) 9

(B) 10
on

(D) 12

Right Answer :
1

Question 32

66003

66004

Right Option Id : 66003

Question Id : 59

Option Id
59001
59002
59003
59004

Right Option Id : 59001

Question Id : 65

Option Id
65001
65002
65003
65004

Right Option Id : 65004

Question Id : 64

Option Id
64001
64002
64003
64004

Right Option Id : 64003

Question Id : 63

Option Id
63001
63002
63003
63004

Right Option Id : 63003

Question Id : 62

U U 4 BT FS U 96 T P 9% Wi & qUT AT UNT 120% F 12% Wi & TIAT § 131G G Tlh! BT aTiids ATHIRT THF 81 a1 G Tidh! | T & T SiIurd

g



Answer : Option Id

(A)3:4 62001
(B)3:5 62002
(C)4:5 62003
(D)16:3 62004
Right Answer : Right Option Id : 62004
16:3

Question 33 Question Id : 61

U Afad 3 fedt U & 225 I VR WS | TG HUAT 9% BT HIY ot B 1 TS I qufdd Y 30 AT TR 10% 3119 UT 81 ot I8 R fhft wia 3 ufd AR
RGRIH

Answer : Option Id
(A) 20.50 ¥o 61001
(B) 21.5 To 61002
(C) 22 %o 61003
(D) 22.5 %o 61004
Right Answer : Right Option Id : 61004
22.5%0

Question 34 Question Id : 60

IR T 32000 BT FAR HP T HTUR HRY f1| 5 TG 91 T 22000 Ysit AR 3ifHd 1 WEieR 81 11 ¥ & 3id & % 16409 & Hof YT H IR HT g
BHIT?

Answer : Option Id
(A) 5284 %o 60001
(B) 11712 %0 60002
(C) 10182 %o 60003
(D) 4697 %o 60004
Right Answer : Right Option Id : 60002
11712 %o

Question 35 Question Id : 40
forht o &1 Sifhd Jea Iqd HITT F 20% HfAF 81 3iford Yo TR 20% H1 Ueh 9T a1 Sl 81 39 UHR B faeht & faghar oY @y gm o g1z

Answer : Option Id
(A) oH 40001
(B) &1 40002
(© FM AU T 71 40003
(D) T ¥ e Tel 40004
Right Answer : Right Option Id : 40002
Gl

Question 36 Question Id : 39

UH U1 &1 YA < 1500 § 3R T T TR 20% &1 981 7301 S g1 31d [t ures o1 fhan sifafvad a1 faan s &1 39T g Jed < 1104 81 51a?

Answer : Option Id
(A) 10% 39001
(B) 5% 39002
(C) 7% 39003
(D) 8% 39004
Right Answer : Right Option Id : 39004
8%

Question 37 Question Id : 38

TH g BT AU T 720 To UT U Afad A &l HiWG T¢1 HRATHR 98 YS! 550.80 & WRIA! | A TUGET FET 10% T Al GER HiHd §¢ BT TH gHI?
Answer : Option Id



(A) 10% 38001

(B) 15% 38002
(C) 20% 38003
(D) 25% 38004
Right Answer : Right Option Id : 38002
15%

Question 38 Question Id : 37
16000 Fo BT 10% AP & 1IN BT Tshdle STl AT G I =Tl Ul ST &3 81?7

Answer : Option Id
(A) 1600 Yo 37001
(B) 1640 %o 37002
(C) 1700 ®o 37003
(D) 1740 Yo 37004
Right Answer : Right Option Id : 37002
1640 Yo

Question 39 Question Id : 17

$S Y9 IYR o 71 a1 I & JAE e ford! & gearan 1| afe U [hd &1 A1 882 TN 1 a4l &TSl 1 &R 5% dT Bl al fda-T ¥ IYR forar mar
Answer : Option Id
(A) 1640 o 17001
(B) 1620 %o 17002
(C) 1680 To 17003
(D) 1780 %o 17004
Right Answer : Right Option Id : 17001
1640 Yo

Question 40 Question Id : 16

T Ih i S B &R F 4000 IUY FT Ihgfg TS 2 8 H 410 =0T AT

Answer : Option Id
(A) 5% 16001
(B) 6% 16002
(C) 4% 16003
(D) 7% 16004
Right Answer : Right Option Id : 16001
5%

Question 41 Question Id : 15
fo<ft Fufy Bt BT 500000 Fo § TUT UfATH 10% B R F THHBT ATHeT 8T 7| fora THT T SD! HIA 364500 Fo B SIAT?

Answer : Option Id
()3 ¥ 15001
(B) 15002
(©) 2 15003
(D) 2 1 § 15004
Right Answer : Right Option Id : 15001

39y



Question 42

TH B 2000 Fo A, AT 600 Fo T YA TF 1500 Fo UAHTE BT &l fhdl IR Iuasy g | fared Ao 3 fo sarat 1 o3 T gme

Answer :
(A) 43.5%
(B) 42.87%
(C) 44.5%
(D) 41.4%

Right Answer :
42.87%

Question 43

Question Id : 14

Option Id
14001
14002
14003
14004

Right Option Id : 14002

Questionid : 13

TH HERT 2500 To P qd YA qUT IHIE URATd 2100 Fo &1 farkd TR o191 1 X1 7| A oW T8 &A191 1 &R 20% a1 § o HHR FT Adh¢ Ged I1d Be

Answer :

(A) 4500 To
(B) 4600 ¥o
(C) 4700 o
(D) 4400 %o

Right Answer :
4500 %o

Question 44

Option Id
13001
13002
13003
13004

Right Option Id : 13001

Question Id : 12

T Rrarg 7=iF Foe YA IR 2600 Fo H IUAH §, TT fhed Qo1 & fdifd 1000%0 & qRd YT TUT 550 To & ot WIS farxal H Iuaisyl g | foea Ao &

3fcifa forw 71w saTet & gnfe

Answer :
(A) 1
20—0
. 0
(B)
19 —
— /0
21

(C) 18%
(D) 19%

Right Answer :

1
i)
1921 0

Question 45
X-31&] T THIHRUT T |
Answer :

(A) x=0

(B) y=0

(C) xy=0

(D) x-y=0

Right Answer :
y=0

Question 46
forg (-4,3) fpg ure # R B

Answer :

(A) UYH TG
(B) fecitar ure
(O) T e

Option Id
12001

12002

12003
12004

Right Option Id : 12002

Question Id : 11

Option Id
11001
11002
11003
11004

Right Option Id : 11002

Question id : 10

Option Id
10001
10002
10003



(D) =rqY g

Right Answer :
fedig urg

Question 47

(-4,-5) forg aqufar A B
Answer :

(A) TuH

CIEGIE

(C) T

(D) Ty

Right Answer :

i

Question 48
fag (4,-5) FTy-Fam® B |

Answer :
(A) 4
(B) -5
(C) -4
(D)5

Right Answer :
-5

Question 49

y 31& TR T U1 faeg 1d PIfoTe o famgaft A (6,5) 3R B (-4,3) ¥ AR © |

Answer :
(A) (9.0
(B) (0,9)
() (0,0)
(D) (9.9)

Right Answer :
(0,9)

Question 50

g (3,4) MR (X,1) W R I TR T A X FTAAR |

Answer :
(A) £3
(B)

+26
" +V5
"+v/6

Right Answer :

+2/6

Question 51

{9531l (a cose,0) dUT (0,a sin@) & &I &I g3 gl

10004

Right Option Id : 10002

Question Id : 9

Option Id
9001
9002
9003
9004

Right Option Id : 9003

Question Id : 8

Option Id
8001
8002
8003
8004

Right Option Id : 8002

Question Id : 7

Option Id
7001
7002
7003
7004

Right Option Id : 7002

QuestionId : 6

Option Id
6001
6002

6003

6004

Right Option Id : 6002

Question Id : 5



Answer : Option Id

(A)a 5001
(B) a COSB 5002
© asind 5003
(D)1 5004
Right Answer : Right Option Id : 5001
a

Question 52 Question Id : 4
farg it (x,-1) TUT (3,2) & ol BT & 5 A B A x BT 7 TGN |

Answer : Option Id
(A1 4001
(B) -1 4002
Q7 4003
(D) (B) 3R (C) & 4004
Right Answer : Right Option Id : 4004
(B) 3R (C) gl

Question 53 Question Id : 3

g e3P Iafogag |

Answer : Option Id

3001

(A) \T
V1
© \/17 3003
Vi1

Right Answer : Right Option Id : 3003

V13

-

3002

Wl N

Question 54 Question Id : 18
fargaft (-3,-4) TuT (1,2) B T arelt a1 WU HI y3rer g srurd H dreet g

Answer : Option Id
(A)1:3 18001
B)2:3 18002
(@) 3:1 18003
(D) IS Tel 18004
Right Answer : Right Option Id : 18003
3:1

Question 55 Question Id : 2

I ¥ Fefd o= &-

Answer : Option Id
(A) TSR 2001
(B) TTHIE 2002
(C) 3T 2003
(D) 37H ¥ BIS T 2004
Right Answer : Right Option Id : 2001

A



Question 56 Question Id : 19
gfdars - fafdre = u @ Sififa ¥ Heiftd deu-ms ol Hal-

Answer : Option Id
(A) SifderRom 19001
(B) MfHETa 19002
(C) SUufx 19003
(D) 38 A BIs ! 19004
Right Answer : Right Option Id : 19001
Sy
Question 57 Question Id : 21
78 Q fpge fdRr sFd § 2
Answer : Option Id
(A) YT 21001
(B) SHdd 21002
(C) A 3R B 3l 21003
(D) 378 ¥ BIg T8 21004
Right Answer : Right Option Id : 21003
A 3R B G
Question 58 Question Id : 36
g Y1 Bt AT 90° (&) B, Hear o-
Answer : Option Id
(A) FHSIT 36001
(B) ~ZAbTOT 36002
(C) TR I 36003
(D) Sifreepior 36004
Right Answer : Right Option Id : 36001
RECA]
Question 59 Question Id : 35
DI HT HH-TT THE RIS FH A G ?
Answer : Option Id
(A) 30°, 20°, 40° 35001
(B) 40°, 20°, 30° 35002
(C) 20°, 30°, 40° 35003
(D) 40°, 30°, 20° 35004
Right Answer : Right Option Id : 35003
20°, 30°, 40°
Question 60 Question Id : 34
ferifora amgpiar &, IfE AC || QRE, dT y=?

P

120°

VAR

Answer : Option Id



(A) 120° 34001

(B) 60° 34002
(C) 180° 34003
(D) 100° 34004
Right Answer : Right Option Id : 34002
60°

Question 61 Question Id : 33

fe 3 W wER ufaede B § o Ly wior g 8-

Answer : Option Id
(A) TH=T U 33001
(B) HHI-HHt T 33002
(C) SIHHI 33003
(D) $7H A BIS T 33004
Right Answer : Right Option Id : 33001
UM T

Question 62 Question Id : 32

3G U &1 Uga S S &l Ayl &1 Faidd AFes el ¢ |

Answer : Option Id
(A) RHS 32001
(B) SAS 32002
(Q) ASA 32003
(D) AAS 32004
Right Answer : Right Option Id : 32004
AAS

Question 63 Question Id : 31
31T s Y ABC & 31ef-uRRfYy o1 fefid & o BC=a, CA=c, Tfc U& g1 HHRT: D,E,F TR YGI3f, BC, AB I W= HRal §, dl BD=

Answer : Option Id
(A) s-a 31001
(B) s-b 31002
(Q) s-c 31003
(D) s-(a+c) 31004
Right Answer : Right Option Id : 31002
s-b

Question 64 Question Id : 30

28 T s iR Feflg 10T 45° 1A U I FAIRIS &7 &% d §

Answer : Option Id
(A) 308cm? 30001
(B) 294cm? 30002
(C) 322cm? 30003
(D) 318cm? 30004
Right Answer : Right Option Id : 30001
308cm?

Question 65 Question Id : 29

TH XARGE AB &1 5:7 & 30T H fUIRTd o & T ugdl Tah fohvor Ax Wit 9Tt § dlfds 2BAX T =g 10T g1 3R R fhvur AX IR ¥9H g R fig 39 UaR
3iferd foru ST § b 37 fefgall &t graw e @

Answer : Option Id
(A) 8 29001
(B) 10 29002



@n 29003

(D) 12 29004
Right Answer : Right Option Id : 29004
12

Question 66 Question Id : 28

TS SHTAd BT TS AUl 25° TR ST BT TP Yol B 3R DT g 5| [Ipul & S 1 A Hiur g

Answer : Option Id
(A) 55° 28001
(B) 50° 28002
(C) 40° 28003
(D) 25° 28004
Right Answer : Right Option Id : 28002
50°

Question 67 Question Id : 27
ABCD U% gyl § for ACB=40° 8, A ADB §

Answer : Option Id
(A) 40° 27001
(B) 45° 27002
(C) 50° 27003
(D) 60° 27004
Right Answer : Right Option Id : 27003
50°

Question 68 Question Id : 26
Yl B TTS 'a’ I a¥f BT ATHA B -

Answer : Option Id
(A) 2a 26001
(B) 4a 26002
(C) a/2 26003
(D) a2 26004
Right Answer : Right Option Id : 26004
a2

Question 69 Question Id : 25
PR 'a* & ° BT Y¥HT &=heT ©:

Answer : Option Id
(A) 4a° 25001
(B) 6a2 25002
(C) 3a° 25003
(D) a* 25004
Right Answer : Right Option Id : 25002
6a2

Question 70 Question Id : 24

Tfe T 3Mad B s 3R ASTS HH: 15cm 3R 10cm B, O STDT 8% d &:

Answer : Option Id
(A) 100 sg.cm 24001
(B) 150 sq.cm 24002
(C) 115 sq.cm 24003

(D) 200 sq.cm 24004



Right Answer : Right Option Id : 24002
150 sg.cm

Question 71 Question Id : 23

TP GEAHS BT &7Hd 240 12 3R T fawmf 16 Tf §1 gy faw ol 71 @il

Answer : Option Id
(A) 16 I 23001
(B) 20 Tt 23002
(C) 30 I 23003
(D) 36 T 23004
Right Answer : Right Option Id : 23003
30 9t

Question 72 Question Id : 22

TH 9 DI SaTs forga! Bsar 7 94t 8 3R od Ide &7 968 T2 §

Answer : Option Id
(A) 15 I 22001
(B) 17 I 22002
(C) 19 Tt 22003
(D) 21 I+t 22004
Right Answer : Right Option Id : 22001
15 It

Question 73 Question Id : 74

T AIATHR & 50 Hex e 3R 42 Hex ST 3R e TIABR Al gidl & I8 U A dISTs & Sort Y 4 foR1 gof g1 afe oy &1 9SS 6 Hiex &, dl Uy &1
PP

Answer : Option Id
(A) 240 Hiex Tt 74001
(B) 480 Hiex aif 74002
(C) 720 Hiex o 74003
(D) 960 HieR o 74004
Right Answer : Right Option Id : 74004
960 Hiex aif

Question 74 Question Id : 20

IS Th T el S0 & SR Bt Bor oeft & &t oY, df Sars THH @ U, U gU S0 & SHad &1 Jd 9a- & AT I SuTd 6:

Answer : Option Id
(A)2:3 20001
(B)3:4 20002
@1:4 20003
(D)4:1 20004
Right Answer : Right Option Id : 20003
1:4

Question 75 Question Id : 75

3 el & gEIT 89 d 1:2 & U § €1 3P ST F &

Answer : Option Id
(A)v2:1 75001
(B) 1:2v2 75002
(©)1:8 75003
(D)1:4 75004
Right Answer : Right Option Id : 75002

1:2v2



Question 76 Question Id : 78
1t o7 & o 8 T ST & U g | sifrd v o waar g (@ #) B

Answer : Option Id
(A) 256 78001
(B) 128 78002
(C) 64v2 78003
(D) 64 78004
Right Answer : Right Option Id : 78002
128

Question 77 Question Id : 92

T IR &1 31 T [I5TE 9% $H 81 oIl 51 TG S JHH I8 &, dl 9aTs o SIee:

Answer : Option Id
(A) 37 92001
(B) 6 T 92002
(C) 9 I 92003
(D) 27 7 92004
Right Answer : Right Option Id : 92003
9 Il

Question 78 Question Id : 93
a1 5 I & U S Tl &I AU T 319 e MAThR AF TH & JASR YR B &1 71 5| VP B T8 6:

Answer : Option Id
(A) 20 I 93001
(B) 10 T 93002
(C) 5 ST 93003
(D) 12 &t 93004
Right Answer : Right Option Id : 93001
20 Gt

Question 79 Question Id : 94

TS THagys &1 uikdaTd 100 It 3R we fawol 40 I 71 99 THAGUS &7 dFwd

Answer : Option Id
(A) 1000 cm T 94001
(B) 500 cm a7 94002
(C) 1200 cm & 94003
(D) 600 cm af 94004
Right Answer : Right Option Id : 94004
600 cm G

Question 80 Question Id : 97

afe; o ) Broan 4 100% ) g & I 2, @ G A

Answer : Option Id
(A1 97001
(B)2 97002
3 97003
(D)4 97004

Right Answer : Right Option Id : 97003
3



Question 81 Question Id : 96
gfe; forddt 3ifps & AT 3 = 40 3R Tfx = 200 A I 3iHS &1 AT §

Answer : Option Id
(A) 3 96001
(B) 4 96002
@5 96003
(D) 20 96004
Right Answer : Right Option Id : 96003
5

Question 82 Question Id : 91
3T ST 3,7,2,11,4 TUT 9 BT HILH §

Answer : Option Id
(A)5 91001
(B) 5.5 91002
(OXE 91003
(D) 6.5 91004
Right Answer : Right Option Id : 91002
5.5

Question 83 Question Id : 98

A ¥ 9gad A & fore ol &) o g =i |

Answer : Option Id
(A) Siferaardt 98001
(B) ffcreaTdt 98002
(€) G R 98003
(D) IS el 98004
Right Answer : Right Option Id : 98001
3ffareardt

Question 84 Question Id : 99

T 10 I UThd TSN BT ATed &

Answer : Option Id
(A) 110 99001
(B) 1 99002
(€10 99003
(D) 100 99004
Right Answer : Right Option Id : 99002
1

Question 85 Question Id : 100
TATY 3,5,7 IUT 9 DI IRER HHY X-2, X+2, X-3 IUT X+3 § Tfe A1 6.5 B @l X BT AM g

Answer : Option Id
(A3 100001
(B) 5 100002
(€ 4 100003
(D) 6 100004
Right Answer : Right Option Id : 100002
5

Question 86 Question Id : 95
RO Wi & fou ot faRTal 1 T g1 A1feu

Answer : Option Id



(A) THARIES

(B) 3ruasif

(C) 3ruasit 1 FATARIG
(D) 378 ¥ FIS e

Right Answer :
gt

Question 87

A o ¥ 1 AT & foru Jerft SRaRdT IR &7 awgsdr g |
Answer :

(A) T1ET

(B) ATEH

(OEENED

(D) T8 T P g

Right Answer :
Hidh

Question 88
a b cd dUePTHIH28C a,ce PTHIH24T | b TUTd PTHH §

Answer :
(A) 31
(B) 32
(C) 33
(D) 34

Right Answer :
34

Question 89
forft faauT &1 |Te QT HIedSs T ST 2:3 § A Sgae aUT HIE &1 3UTd §

Answer :
(A)5:2
(B)2:5
(C)2:3
(D)3:2

Right Answer :
5:2

Question 90

II'FC.’XpXj.Xg ............ anﬁ]' HATET f??—ﬁ

Answer :
(A)O
(B)

X
©nX

(D) 1

e

Right Answer :
0

Question 91
g A+B+C = 45° Z(tan A + tan A tan B) &I HIH ;

- (Xi-X) =2

95001
95002
95003
95004

Right Option Id : 95002

Question Id : 90

Option Id
90001
90002
90003
90004

Right Option Id : 90002

Question Id : 77

Option Id
77001
77002
77003
77004

Right Option Id : 77004

Question Id : 88

Option Id
88001
88002
88003
88004

Right Option Id : 88001

Question Id : 87

Option Id
87001
87002

87003
87004

Right Option Id : 87001

Question Id : 89



Answer :

(A) 1-ntan A

(B)1

O 1+mtan A

O 1+ T tan A

Right Answer :
T+mtan A

Question 92
sec*d - sec?0 =
Answer :

(A) tan®0 . Sec®0
(B) tan?8

sec?@

(C) cosec?d . cot?0
D) cot?8

cosec28

Right Answer :
tan?0 . Sec?0

Question 93

: (A+B)
v ST # cos——

Answer :
(A)

C
cOoS —
2
(B)
. -
—Sils
2
©

A-B
cos(—
2

(D)
Lol
Sin -
2

Right Answer :

.
Sin=
2

Question 94

Cosech sech Pl Hcdlh Diford

Answer :

(A) cosB + tanB

B) cosh - tanb

© tanb - cot

(D) cotB + tanb

Right Answer :
cot® + tan®

Option Id
89001
89002
89003

89004

Right Option Id : 89003

Question Id : 86

Option Id
86001
86002

86003
86004

Right Option Id : 86001

Question Id : 85

Option Id
85001

85002

85003

85004

Right Option Id : 85004

Question Id : 84

Option Id
84001
84002
84003

84004

Right Option Id : 84004



Question 95 Question Id : 76

5 CrEes aRTay @IT?

1—-sin@
Answer : Option Id
(A) secB+tanb 76001
(B) secBH-tanb 76002
© sec?f+tan? 76003
D) sec?p-tan’ 76004
Right Answer : Right Option Id : 76001
secB+tanb
Question 96 Question Id : 83
9sec2A-9tan2A fhae SRTER BR1?
Answer : Option Id
(A1 83001
(B)9 83002
8 83003
(D)0 83004
Right Answer : Right Option Id : 83002
9
Question 97 Question Id : 82

IfE cos A= % % ar tan A + cot A=----

T AT FIT BIM?

Answer : Option Id
(A) 25 82001
168
(B) 82002
168
25
Q) 625 82003
168
D
) 625 82004
168
Right Answer : Right Option Id : 82003
625
168
Question 98 Question Id : 81
o 1
sin“f + —————---- hl Al FO1 €‘|3II?
1+tan?6
Answer : Option Id
(A)1 81001
(B) -1 81002
(ORY 81003

(D) 379 A BIS el 81004



Right Answer :
1

Question 99

(sin30°+cos30°) - (sin60° + cos60°) ------ &AM 82
Answer :

(A) -1

(B0

1

(D)2

Right Answer :
0

Question 100

Ifd sin® + cosd =V3 &, dl tand + cotd fhddb SRS §|

Answer :
(A)1
(B)O

© 2
V3
(D) 1

V3

Right Answer :
1

Question 101
STH FHarfad

Answer :

Right Answer :
3M=Tie Tg 3= §

Question 102
3iferTH wfeean H Tnfira @

Answer :

(A) ST AT
(B) 3fd:UGU BT
(C) HSRUT AT
(D) SWRIad it

Right Answer :
IIRIET g+t

Question 103
SAMTAMSTRIT ITH SR BT &

Answer :

Art Of Teaching

Right Option Id : 81001

Question Id : 80

Option Id
80001
80002
80003
80004

Right Option Id : 80002

Question Id : 79

Option Id
79001
79002
79003

79004

Right Option Id : 79001

Question Id : 120

Option Id
120001
120002
120003
120004

Right Option Id : 120003

Question Id : 121

Option Id
121001
121002
121003
121004

Right Option Id : 121004

Question Id : 125

Option Id



(A) T8 3{feTH
(B) W sifemH

(C) TR g
(D) T it

Right Answer :
B

Question 104

TH &1 I22g Fufa g 3
Answer :

(A) TGS GRT

(B) SRR GRT

(C) THTSIRIREA §IRT

(D) SR R

Right Answer :
SRR gRT

Question 105

3 I qUH HT
Answer :

(A) GRUIH &1

(B) UfshaT BT

(C) BRITZTT BT

(D) STIvITCt ST

Right Answer :
GRUMHA &1

Question 106
e o uRURe fafYr ot faRivar g

Answer :

(A) Teat 3R aradt
(B) fopam

(C) Q& yHur
(D) THIT FHIYH

Right Answer :
Gl SR arat

Question 107
/T ¥ 3eTeRu ufhar §

Answer :

(A) 3TTHA fafd &1
(B) e fafar

(C) | TR fafey
(D) TR fafdy

Right Answer :
e fafa

Question 108
Srr=afonar ¥ =Mid §
Answer :

(A) a1 faarg

(B) WA

125001
125002
125003
125004

Right Option Id : 125004

Question Id : 123

Option Id
123001
123002
123003
123004

Right Option Id : 123002

Question Id : 124

Option Id
124001
124002
124003
124004

Right Option Id : 124001

Question Id : 119

Option Id
119001
119002
119003
119004

Right Option Id : 119001

Question Id : 117

Option Id
117001
117002
117003
117004

Right Option Id : 117002

Question Id : 126

Option Id
126001
126002



(C) g fRgror qredlt
(D) SR gt

Right Answer :
IIRIT it

Question 109
TS ST T TAToH §

Answer :

(A) TRI&UT F&g BT T URWT ¥ HIAT

(B) AET TP Uga- & T qF HRAT
(C) STTH IE=T T HAT
(D) SWRIad Wit

Right Answer :
IRIT it

Question 110
TS AT &1 =1 a_0 @

Answer :

(A) TRIGRT

(B) TeBrd

(C) SFETal
(D) WHUCHTH

Right Answer :

TewTd

Question 111

e fRigror sifires yuTat g -
Answer :

(A) TRI&roT 3nam Bt TRt & SR
(B) TR&f01 3namg F R

(C) TRr&rr ey & a1

(D) Iudad B ¥ FHIE TET

Right Answer :
fRI&0T 31T & SR

Question 112

Y& 1801 Th g IaTeRI &-
Answer :

(A) HfFrT e & fer

(B) WM & ferg

(C) 3FehuT (Rrgarer) & ferg

(D) SUYF # IS Tl

Right Answer :
SFFHON (RFTgerRr) & ferg

Question 113

ST SR oM 3-
Answer :

(A) FIRIDT ST TR

(B) foPaTTgd Srgem TR

(C) A 3R B GHI

(D) TG & ¥ BIg T

126003
126004

Right Option Id : 126004

Question Id : 127

Option Id
127001
127002
127003
127004

Right Option Id : 127004

Question Id : 128

Option Id
128001
128002
128003
128004

Right Option Id : 128002

Question Id : 129

Option Id
129001
129002
129003
129004

Right Option Id : 129002

Question Id : 108

Option Id
108001
108002
108003
108004

Right Option Id : 108003

Question Id : 130

Option Id
130001
130002
130003
130004



Right Answer :

fohaTgd e IR

Question 114
He T B B! Ale geaq I o1 a1y 82

Answer :

(A) S=d H&l H T HeqH 7 hY

(B) TE TTHINTS WU T TGS S 1 91T &l g
(C) =3t Bl G 3R 3HfAH STerfazart ST |

(D) SR & J P T

Right Answer :
g JIATNID JUD UG HIGTTHS ST P I¢IdT o |

Question 115
PH&fT BT ATl T ART-
Answer :

(A) THRTHS 3R ARG B Sa=THdl & IR
(B) BT I WAl Y& B arell

(C) wganh

(D) IYa T+t

Right Answer :

SYad Tt

Question 116

UTGAYID! BT T8 Hd T & &1 16T
Answer :

(A) UTGIYRA® BT AT

(8) fawar =

(C) TEP

(D) Sugad qult

Right Answer :

Sy Tt

Question 117

ISSN H fora 3fd 81 87
Answer :

(A) 10

(B) 13

(OF:

(D) 15

Right Answer :
8

Question 118
T R P U ST A1RT

Answer :

(A) B & IR § I
(B) fRerur fafys 1 311
(C) 3BT Al
(D) Sugad qult

Right Answer :

Sugad Fult

Right Option Id : 130002

Question Id : 122

Option Id
122001
122002
122003
122004

Right Option Id : 122002

QuestionIid : 118

Option Id
118001
118002
118003
118004

Right Option Id : 118004

Question Id : 115

Option Id
115001
115002
115003
115004

Right Option Id : 115004

Questionid : 116

Option Id
116001
116002
116003
116004

Right Option Id : 116003

Question Id : 101

Option Id
101001
101002
101003
101004

Right Option Id : 101004



Question 119

TS Rereh Tad 31 Faar 3-
Answer :

(A) foramei 9

(B) BT &

(C) VYIS A

(D) 38 A BIs el

Right Answer :
BE

Question 120
T quTdt Riereb 1 Agaquf 707 8-

Answer :

(A) 3BT RSB

(B) BT & 1Y 33T YdY
(C) A 3R B Ml

(D) $7H ¥ ®IS T

Right Answer :
3] RSP

Question 121
3{TH T BT JUBT 8-
Answer :

(A) STSTHE URA
(B) Toide BRI
(C) Tt Sfftrere
(D) A&y

Right Answer :
RERIECIR ]

Question 122
TS Hedic b1 Iea B

Answer :

(A) TRraror SiferTs gfshdn &1 Ui ST
(B) TRr&ror SiferTH Ufehar &1 YUR BT

(C) SR g
(D) SWRIad # I B e

Right Answer :
TRI&707 SfETH UfehaT BT GUR BT

Question 123

Ui P B BI-DI T 82
Answer :

(A) =4

(B) Hfqwaroft

(©) fam

(D) SWRIa w4t

Right Answer :
IRIT it

Question 124

Question Id : 102

Option Id

102001
102002
102003
102004

Right Option Id : 102002

Question Id : 104

Option Id
104001
104002
104003
104004

Right Option Id : 104001

Question Id : 105

Option Id
105001
105002
105003
105004

Right Option Id : 105003

Question Id : 106

Option Id
106001
106002
106003
106004

Right Option Id : 106002

Question Id : 107

Option Id
107001
107002
107003
107004

Right Option Id : 107004

Question Id : 103



UTed T & ¥ Hefid T8 8-
Answer :

(A) dre-faare

(B) Tt

(C) e

(D) FI-TRreqor

Right Answer :
EURRI

Question 125

faerert ursweraf &1 uigE I §-
Answer :

(A) ST B} AR

(B) Sr=al BT qAIHOT

(C) SAfRTTA Hfe

(D) IRIad Tt

Right Answer :
Sl T g

Question 126
TR = A9 fapg & fauTiora foan 8-

Answer :

(A) & ROl H
(B) 31T TRON |
(C) ®: TRl ¥
(D) IR RO

Right Answer :
36 =)0

Question 127

Wi 3R sriifie T # uRad 1 Pel STl 8-

Answer :

(A) TS IR
(B) WG uRad
(C) AT gRad=
(D) STRYad Tt

Right Answer :
Bl SECIRERE|

Question 128
3 R0 ) Haarg & w4 H 1 7 8-

Answer :

(A) 31T e & w3
(B) ¥8! Rfdd & HRU

(C) MU AT =18 B
(D) IuRrad Tt

Right Answer :
3TepT e & = g1

Question 129
3oT-2 XY AT -

Answer :

(A) s

Option Id
103001
103002
103003
103004

Right Option Id : 103004

Question Id : 109

Option Id
109001
109002
109003
109004

Right Option Id : 109002

Question Id : 110

Option Id
110001
110002
110003
110004

Right Option Id : 110002

Question Id : 111

Option Id
111001
111002
111003
111004

Right Option Id : 111001

QuestionIld : 112

Option Id
112001
112002
112003
112004

Right Option Id : 112001

Question Id : 113

Option Id
113001



(B) o=
CELEE]
(D) |

Right Answer :
ERIEE]

Question 130
T B ARG 3R UG PR BT AT YD 3-

Answer :

(A) 9T TR

(B) TU UHfA

(C) SHIYRY AHFH
(D) SWRIa Fit

Right Answer :
3[GYRUT AHRIT

Question 131
3cie Uae uTiRd foear T o :

Answer :
(A) 1905
(B) 1913
(C) 1919
(D) 1925

Right Answer :
1919

Question 132
fafeRed § @ &F 91 YR § e TR IYNT" F& HIA dTa Ugdl I 87

Answer :
(A) AR
(B) ISra
(C) 31 H
(D) IR

Right Answer :

wforgR

Question 133

fafoea & @ o 9t §6 w82

Answer :

(A) T8 R o R T TfIfI® § 30 TTeah! B IYR Sl §

(B) T <} o TR ueb aivifoues Sob 30 FdAY W eh! & JUR el &
(€) T8 R T | U& $ea % aififs gt &I IYR a1 8

(D) T8 <R 1 R U A1fifuss S $ig S Y SUR T 8

Right Answer :
T8 &R N R TF Fel I adifodds St o1 JUR Al §

Question 134
foTmfoar ¥ fogR & coawyt, 1 &1 Wdl & AT foast S SR & o4z

Answer :
(A) 03/10
(B) 03/20

Other Skills

113002
113003
113004

Right Option Id : 113003

Question Iid : 114

Option Id
114001
114002
114003
114004

Right Option Id : 114003

Question Id : 149

Option Id
149001
149002
149003
149004

Right Option Id : 149003

Question Id : 148

Option Id
148001
148002
148003
148004

Right Option Id : 148001

Question Id : 147

Option Id
147001
147002
147003
147004

Right Option Id : 147003

Question Id : 146

Option Id
146001
146002



(C) 03/30
(D) 03/40

Right Answer :
03/20

Question 135

TS 2022 B HH I X TH4! 3RT B! N BISHR Fad dd HT YR BT GIRT I g1 3Myfefavat a1 Tam

Answer :

(A) TUHT

(B) TSRS
(ORS)

(D) 4T3

Right Answer :
RSl

Question 136

faferad & § &9 91 TSic doHed ol al &1 & fore S eR 82

Answer :

(A) FetbY

(ESEE]

(C) TR SIS
(D) SIS g3 3ilaargs

Right Answer :
TR SIS HINSS

Question 137

W & G BT 4fEwd i 82
Answer :

(A) T8 9§ B3 T

(B) T® fafirst MR A 37T §

(C) T® faue arer 3

(D) T9H IR UhR F Sgeed I 8 &

Right Answer :
3oH AT TR & Sgas I A &

Question 138
Il Bl HeTs Bl HH B DT I 3BT db]

Answer :

(A) TUH BT BT IUGRT HAT

(B) W& ITH & forw Ut & oifies &= Y A 3
(C) Tt TG YA §9H & o SHTal BT ST
(D) U8 I & forg dielf & 3ifres & &1 A% H3

Right Answer :
U I & forg Uil & 31 & &1 A1 Y

Question 139

e arfi &1 ot Yefifd ear o
Answer :

(A) STearg gRad

(B) TIRRUfe aRkad=

(C) ITTaRTT URTd

(D) UG H | HI T

146003
146004

Right Option Id : 146002

Question Id : 145

Option Id
145001
145002
145003
145004

Right Option Id : 145003

Question Id : 144

Option Id
144001
144002
144003
144004

Right Option Id : 144003

Question Id : 143

Option Id
143001
143002
143003
143004

Right Option Id : 143004

Question Id : 142

Option Id
142001
142002
142003
142004

Right Option Id : 142004

Question Id : 141

Option Id
141001
141002
141003
141004



Right Answer : Right Option Id : 141001

EREIRRIRERR]

Question 140 Question Id : 131
I8 Aeayuf Ardig fafafy &1 A Farsy s ageial & faqw 81 &1 HRUT §dt g |

Answer : Option Id
(A) Tld Hgor 131001
(B) TUAM a-goild ITG! & FRIGR H=AT 131002
(C) fac=it yenferat o1 uR=a &1 131003
(D) WTfaes 3Tardl &1 farer SR uRad=| 131004
Right Answer : Right Option Id : 131004
T Harat &1 fammr 3iR afkad=|

Question 141 Question Id : 139
Ife U 3Mmad &) TS iR TSTs 18 forft qur 16 iyt 8, Y I9ehT 9w I1d S|

Answer : Option Id
(A) 288 aif foreft 139001
(B) 289 o foredy 139002
(C) 280 o forely 139003
(D) 268 T foredt 139004
Right Answer : Right Option Id : 139001
288 T fieft

Question 142 Question Id : 138

2 39 & foIU 6% Ufd a¥f &1 &R T Ihgfa ST HI TUAT I RiGid W B S 2 I8 | 2% U 98 &1 &R I T | JIYRU 1S & &0 F 8000 |

Answer : Option Id
(A) 50000 138001
(B) 49440 138002
(C) 59440 138003
(D) 49000 138004
Right Answer : Right Option Id : 138002
49440

Question 143 Question Id : 137
&1 AT 1600 THUA g8 Uit & | 98 4 g H fava oiiex gy ot 82

Answer : Option Id
(A) 41.6 137001
(B) 43.3 137002
(C) 44.8 137003
(D) 48.2 137004
Right Answer : Right Option Id : 137003
44.8

Question 144 Question Id : 136

3l RT3t o7 Y YA 138 81 Afh 36T GCD 23 B 1 TATE 1:6 & U A &1 S § JaY 98! T oI It 82

Answer : Option Id
(A) 46 136001
(B) 138 136002
Q) 69 136003
(D) 23 136004
Right Answer : Right Option Id : 136002

138



Question 145 Question Id : 135

ARBI R & d19TH US 31 IE US A P R W ST &, A1 US BT N ITP! fGSH! W EH1 8l & o T 12 Hiex 31 g W 71 AfE U8 B F N R FHbadl
2, 3 U &1 2 Sua RAge W RwT ST 2 of ol & o Hex F1 g W 31 A U 3 HarE 15 Pex 2, A A IR B F R F §tg o g Rt &2

Answer : Option Id
(A) 211t 135001
(B) 25 T 135002
(€) 16 # 135003
(D) 12 1 135004
Right Answer : Right Option Id : 135001
214

Question 146 Question Id : 134
3:10::8:7?

Answer : Option Id
(A) 10 134001
(B) 13 134002
17 134003
(D) 14 134004
Right Answer : Right Option Id : 134003
17

Question 147 Question Id : 133

JE Weg - ol YHE & 31 Tsal I Gay &Y fHerdr Jordm 31|

Answer : Option Id
(A) BRI 133001
(B) A 133002
(C) TS 133003
(D) fa¥isR 133004
Right Answer : Right Option Id : 133001
A

Question 148 Question Id : 132
61014 18 22 26 30

Answer : Option Id
(A) 36 40 132001
(B) 33 37 132002
(C) 38 42 132003
(D) 34 38 132004
Right Answer : Right Option Id : 132004
34 38

Question 149 Question Id : 140
g fHt e UTST & PAINT &1 74128 3R EXCEL &1 93596 forar ST 8, df 3T U1 & ACCEPT & oy TR fera saem?

Answer : Option Id
(A) 455978 140001
(B) 544978 140002
(C) 455378 140003
(D) 733961 140004
Right Answer : Right Option Id : 140001

455978



Question 150

Vel ¥ S b1 URer $H1q §Y a3 Bel, “IT® foar &R frdr & goalid g7 8 | o1 Wid | 4 Taifdrd 82
Answer :

(A) de-

(B) HciTSiT

(ex o

(D) A

Right Answer :
et

Question Id : 150

Option Id
150001
150002
150003
150004

Right Option Id : 150003



